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Thought of the day
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W rulA KUNDU P ———- 15 hours ago & subscribers
The answer is —1-C.2-G,..3—H..4-B.....5-E..6—F...7-A. 8—D.. THANK YOU SO0 MUCH SIR FOR THE AMAZING SESSION & . Ju oa

gh 2 §P  REPLY =2

9 Mchit.. 19 hours ago 1 subscribers

- Thank-you Sir for this very Amazing and Wonderful Class Session... o &
And
My Answer for today's Homework is-
1.C.-

Read more

b %  REPLY -2

f"‘ Twinklr Gupta 10 hours ago
9 Class was awesome and your teacher is best sir... thank you for wonderful sessions.
Ans. Is 1-C, 2-G, 3-H, 4-B, 5-E, 6-F, 7-A, 8-D.
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Miharika Jha 16 hours ago
Thank you sir for amazing session &

Homework answer:
1C
2G...

Read more
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Nadeem 19 hours ago ) i
Ku Anita Rlawv 19 howrs ago 2 subscribers

(&) Homework # e Home work Ans-
Q Ans - Sequence of Puzzle from To bottom isCGHBEFAD "Eg
 Thank you Sir &% Lajawab Session Siri& 3
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Kiran Sharma 9 hours ago
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&RASHMI SONIED 19 hours ago 31 subscribers
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Tamisha p 7 hours ago

Top 1 and botoorm 8
C

e simran Lalwani 17 hours ago =
H. W Answer : o
=.d Mmaere
(Top to bottom ) CGHBEFAD
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Ankit Sabhw 12 hours ago

{y G REFLY @
CGSGHBEFAD(FROM 1TO 8)

=24 Anjali Singh 19 hours ago
@ CGHBEFAD.. Top to bottom
Thank you sir...
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In a General Store, 8 boxes - A, B, C, T@"ﬁ'%, aﬁﬁ'ﬁﬁ'ﬂ@ &7
D, E, F, G and H are placed one ggﬁ-mﬁ-@-|q@zﬁa—mq-{1
above another but not necessarily In a_ 8 .

% T gear foret Y 2

that order. Each box has a number

written on it from 1 to 8 but not T 1 Qﬁ'ﬁf‘T{g, eI 8 g9
necessarily in the same order. :ﬁ%ggﬁ-{gﬁ'wm'@@

Number 1 is at the top, number 8 is :
at the bottom and others Q"ﬁ- T@-W gl

accordingly. (T E =l a"|a|-'.\c|’ H % = <@r
Box E is placed below box H. Box A T|'€IT%"| T A a7 ‘T{%I
IS on number 7. Box F is not on EI'TWFW5WH@:§|3'TW

number 5. Box B Is on number 4.

Either box D or Box Cis on number BW““%‘ WD:'TW
1. Box G is not on number 3 and 5. CW1W§IWGW3
Box F is not on number 2 and 3. Box 3:ﬁ-{5q-{,—.|@=§| |a-‘|'7,|;|-|:,-.ia-{
D is on number 8. : u .

2 AT 3T AT = T D J397



In a General Store, 8 boxes - A, B, C,
D, E, F, Gand H are placed one
above another but not necessarily in
that order. Each box has a number
written on it from 1 to 8 but not
necessarily in the same order.
Number 1 is at the top, number 8 is
at the bottom and others
accordingly.

Box E is placed below box H. Box A
IS on number 7. Box F IS not on
number 5. Box B Is on number 4.
Either box D or Box Cis on number
1. Box Gis not on number 3 and 5.
Box FI1s not on number 2 and 3. Box
Dis on number 8.



Q.1. Box His on number
Fior g H e T gl
(1) 2

(2) 1

(3) 4

(4) 3 ==

(5) 5




. Q.2. Box Fand Box C are on number
T F 3T 91 C 47

(1) 2, 4
(2) 5,1
(3) 4,6
(4) 7, 4
(5) 6, 1 <=

tl'{s‘{l.



Alphabetical Series

Chinese Coding — Decoding
Inequality

Blood Relation

Syllogism

Uncertain Based sitting
Circular Based sitting

Floor With Flat Based Puzzle



ZYZAYFBBFUUYBFFYUCBBBFNNNIYACAUUAABYYYYYCAUOQOYC

Q. How many Y’s are there Iin the above arrangement
which is immediately followed by a Consonant?

IR el § fhaq Y € ST O =49 & T
JEHG?

(1) Three

(2) TWo —=gfmm
(3) Nine

(4) Six

(5) Seven




Direction: Study the following arrangement carefully & answer
the following questions:

594326815427566834

Which digit will be the 7t at right from the 10t" from left in this
series?

=0 HWell H 9 ¥ 10d ¥ S 31X 74T 3h hid GT BIM?
(A) 1

(B) 2

(C) 3 <@= 3

(D) 4




If only one English word is possible from the 3rd, 5th | & 8th |etter
of the word APARTMENT. Which one from the following will be
the 1st letter of that word? If such a word is not possible, then
answer ‘X’ & if more than one such words are possible, then
answer ‘M’.
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(A) A
(B) T
(C) X

(D) M g
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@m following questions are based on five words give below:
ACTMHS INETKA MBUTAN JZTHEE velele]=

If In the given words, +2 Is done in each consonant in the English
alphabetical series and -2 is done in each vowel, how many words will
start or end with vowel?

Ff< T 7T ersqi | IS FGAT H TAF ST | +2
o ST iR 9 & | -2 fRaT S g, a7 39 ag & T
9T TG [E AT GHTH B2

(1) More than three

(2) Three g ;I:ln
(3) Two

(4) One

(5) None



Q. The following questions are based on five words give below:
ACTMHS INETKA MBUTAN JZTHEE PWQOOF

How many letters are there between fourth letter of second word from the
left and sixth letter of third word from the right in alphabetical series?

FUIHTAT JEAT & AL, T | TS & AT AT I A
Eﬁﬂ%&l&'%@ﬁ%‘{%aﬁ?ﬁgﬁmﬁ TAT 8

(1) Seven

(2) Five —ugum
(3) Six

(4) Three

(5) Nine




Thinking , without , solution is coded as 45, 18, 60
Something , between , creation is coded as 30, 29, 15
Agree , thing , diverted , problem is coded as 20, 19, 9, 11
Holding , to, handle , success is coded as 24,15, 6, 26

What is code of “ Portugal “ ? @
A. 36 B. 22
C. 16 D. 3/ <gum

E. NOT



Thinking , without , solution is coded as 45, 18, 60
Something , between , creation is coded as 30, 29, 15
Agree , thing , diverted , problem is coded as 20, 19, 9, 11
Holding , to, handle , success is coded as 24,15, 6, 26

What Is code of “ gueen moving there “ ?

A.10, 24,10 B. 21, 24,10
C.26,24,10 D.31,24,10 <gem
E. NOT



Thinking , without , solution is coded as 45, 18, 60
Something , between , creation is coded as 30, 29, 15
Agree , thing , diverted , problem is coded as 20, 19, 9, 11
Holding , to, handle , success is coded as 24,15, 6, 26

What 1s codeof “16,15,6 “ ?

A. Between , toast , handlesm B. Between , handle , twist
C. To, heroes , handle D. To , too , anderson
E. To, something , anderson




Statements : M2P<H, V>T=M
Conclusions: I.V>P

(1)
(2)
(3)
(4)
(5)

II. T=2H

f only conclusion | is true. <=

f only conclusion Il is true.

f either conclusion | or Il Is true.

f neither conclusion | nor Il Is true.
f both conclusion | and |l are true.




Statements : A>F<C=D<E

Conclusions: . A>E
II. F<E

(1) If only conclusion | Is true.

(2) If only conclusion Il is true. —<=
(3) If either conclusion | or Il is true.
(4) If neither conclusion | nor Il is true.
(5) If both conclusion | and |l are true.




Statements: M2R<H, A>C=M

Conclusions: I. A>R
I.C2H

(1) If only conclusion | Is true. gem
(2) If only conclusion Il is true.

(3) If either conclusion | or Il is true.
(4) If neither conclusion | nor Il is true.
(5) If both conclusion | and |l are true.




statements: H2 0 =U2B<L=P;D<N=B2S>K

Conclusions: . K<L . H=2 K

(1) If only conclusion | is true. ~<=
(2) If only conclusion Il is true.

(3) If either conclusion | or Il is true.
(4) If neither conclusion | nor Il is true.
(5) If both conclusion | and |l are true.




,@mily consists of eight membersJ),K,L, M ,E,F,Gand H.K s the
parents of E who is the only sister of J . H is father in law of K. M is the only
daughter of H. G is the son of F who is son in law of H. L is father of J .

Uh URAR & 36 TSET ald & L, K, L, M, E, F, G 3T H| K, E T HTAT-
fOar & St )T ThATT d8f &1 H, KT TEI &1 M, HHN ThHAT 9 &
G,F&T U3 &, Sil HERT &TATG &l L, I Udr gl

How many female are there among the given members of the family ?
URdR & GU 9T H fhdel ATgel &g £7?

(A) Two

(B) Three

(C) Four 2
(D) More than Four Ch
(E)CND —«gum




Syllogism —

Direction: Study the following arrangement
carefully & answer the following questions:

(1) If only conclusion | Is true.

(2) If only conclusion Il is true.

(3) If either conclusion | or Il is true.
(4) If neither conclusion | nor Il is true.
(5) If both conclusion | and |l are true.




Statements:
Only tables are chairs.
Some tables are desks.

Conclusions:
I. All chairs are desks.

II. Some desks are tables.

hcd: |
thaol AT HTAAT &

%ﬁ?ﬂ SEh o
g ﬁm' T 3Th &
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Statements:
Only tables are chairs.
Some tables are desks.

Conclusions:
I. All chairs are desks.
Il. Some desks are tables.



Statements :
Only a few teachers are doctors.
0% teachers are lawyers.

Conclusions :
I. All lawyers are teachers.
Il. Some doctors are not lawyers.

. ©

hdol S RA&TH el &
0% fRIaTeh adhrer T
GLEI

A gebrer FA&TH Tl

PG Sl Thlel el




Frequently 100% 0% Not more than None but All but some
Generally Each None Only few
Occasionally Every Only a few not
Sometimes Complete

Mostly/almost/ap  Full
proximately

At least Every single

A few / few /
fewer

Maximum
Minimum
1-99%

Fraction



Statements :
Only a few teachers are doctors.
0% teachers are lawyers.

Conclusions :
l. All lawyers are teachers.
Il. Some doctors are not lawyers.



| it
Statements : HAT- @

All circles are squares. A Jd 3P| %‘l
Some squares are rectangles. Eg@, qfr HATIdd %‘I

Conclusions : T =TT & g7 Eled hr
l. All rectangles being squaresis 3T %|

a possibility. Hgﬂ W I %l

Il. All circles are rectangles.



Statements :
All circles are squares.
Some squares are rectangles.

Conclusions :

l. All rectangles being squares is
a possibility.

Il. All circles are rectangles.



Statements: K

Only Rama is a clerk. a-,qo{ J[HA T q-o{cfﬁ %\'I

100% honest are Rama. I[H Qo00¥% éd-||c,—|q|~{ %‘I
IGLEF

Conclusions: THT TH éc [AGIR %’I

l. All Rama are honest. T FAP & éd-||<,—|q|~{ gﬂér

Il. All clerks being honest is a Y ﬁg-”qc—u %‘|
possibility.



Statements:
Only Rama is a clerk.
100% honest are Rama.

Conclusions:
I. All Rama are honest.

Il. All clerks being honest is a
possibility.



Certain people are sitting in a row
facing north. There are as many people
to the right of Z as there are to the left
of Z. Y is third to the left of U who sits
fourth from one of the extreme ends of
the row. T sits at one of the extreme
ends of the row. There are five persons
sitting between T and W. X sits exactly
in the middle of T and W. Two person
sits between W and Z. Y does not sit at
the extreme ends of the row. There are
as many persons sitting between Y and
V as many are sitting between W and Y.

$HE e ith Ueh UTeh H eI &l 31X
3-89 d& & |2 a1t 3R fSid= o
e3dA I Zh A 3INE | Y, uéﬁané
IR 1A TATT WX 8 S Y gfeh &
P T R T NI AT R ISTS | T
Th DR WIS | W IR TH T u=
b do & |X, W IR TH Sh g A
doTg | W IR zF Ty afh d5 8 |
Y Ufeh &b fpdy sh o ur gt dor & | v
3ﬂTVﬁ’»£ﬁﬂW€f?’F?%%ﬁﬂﬁ
W IIRYSTTSSE |
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Certain people are sitting in a row facing north. There are as many people to the
right of Z as there are to the left of Z. Y is third to the left of U who sits fourth
from one of the extreme ends of the row. T sits at one of the extreme ends of
the row. There are five persons sitting between T and W. X sits exactly in the
middle of T and W. Two person sits between W and Z. Y does not sit at the
extreme ends of the row. There are as many persons sitting between Y and V as
many are sitting between W and Y.



PQ,R,S,T,U,V,Ware P,Q,R,S,T UV WUTh
sitting in a circular table MoTPR gl P 3T IS
facing inside. Three persons %I 3cgfh P3R QF
are sitting between Pand Q. 3 gl Q RP &8 3R

Q sits second to the right of R. IRy P EIV,P&h

V is the immediate left of P. UcheH U %| R3T s
Two person sit between R a1 & a1 gfp doa E1 v,
and S. U is second to the Vdh € 3R 4 GE =y

right of V. W is not an W, V ST deehlel TSI oTel
immediate neighbour of V. % |' |




PQ,R,S,T,U,V,Ware
sitting in a circular table
facing inside. Three persons
are sitting between P and Q.
Q sits second to the right of R.
V is the immediate left of P.
Two person sit between R
and S. U is second to the
right of V. W is not an
immediate neighbour of V.



Twelve persons A,B,C,D,E,F, G, H,1,J, K, Llivesin
different flats of different floors. There are four floors
in a building as ground floor is numbered as 1 and
above it is 2 and so on upto top floor numbered as 4.
Each of the floor consist of 3 flats as flat-1, flat-2 and
flat-3. Flat-1 of floor-2 is immediately above flat-1 of
floor-1 and immediately below flat-1 of floor-3 and
so on. In the same way flat-2 of floor-2 is
immediately above flat-2 of floor-1 and immediately
below flat-2 of floor-3 and so on. Flat-2 is in east of
flat-1 and flat-3 is in east of flat-2.

Two persons live between J and K. J lives above K but
both are living in the same flat number. A is to the
east of | but none of them lives on same flat and
same floor number on which J and K live. No one
lives in the west of J. Only one person lives between
C and G who lives below C. L lives to the east of G. F
lives immediately above B and in the same flat
number. D is to the west of H. L lives below E and H

does not live on the top floor. E does not live in flat-2.

C and G lives in the same flat number.

e A T = S e

’
|
g
.
]
:
:

& offchad EIT AT Tolc I&AT H T&d &l A, I
H © olfehcd 398 & PIs T 38D TATA Fele
AT dol T&IT W g Bdl © o8 W J 3R
KIga &1 @15 ot 1 uf®ar & a8 &ar &1 c3ik
G,SN Cdh A {&dT &, & dIF hddl T <Ifh
TAT &1 L,Gdh Gd H /AT &1 F,BH 8 3
EdT § 3R A Tolc AT & AT &l D,HE
gfRIA # &1 LED a1 BTl & 3R HAW dad W)
el 8T &1 E, Folc-2 & a8 ®ar &l c3iR G
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Twelve persons A,B,C,D, E, F, G, H, |, J, K, L lives in different flats of
different floors. There are four floors in a building as ground floor is
numbered as 1 and above it is 2 and so on upto top floor numbered
as 4. Each of the floor consist of 3 flats as flat-1, flat-2 and flat-3. Flat-
1 of floor-2 is immediately above flat-1 of floor-1 and immediately
below flat-1 of floor-3 and so on. In the same way flat-2 of floor-2 is
immediately above flat-2 of floor-1 and immediately below flat-2 of
floor-3 and so on. Flat-2 is in east of flat-1 and flat-3 is in east of flat-
2

Two persons live between J and K. J lives
above K but both are living in the same flat
number. A is to the east of | but none of them
lives on same flat and same floor number on
which J and K live. No one lives in the west of
J. Only one person lives between C and G who
lives below C. L lives to the east of G. F lives
immediately above B and in the same flat
number. D is to the west of H. L lives below E
and H does not live on the top floor. E does
not live in flat-2. C and G lives in the same flat
number.



@1 a class of 90 students, numbers of boys are twice the number of
girls. Rani is 58th from the left end and there are 20 boys to the right of
Rani, then find the number of girls to the left of Rani? (if Rani is girl)

90 BT T TF F&T A, AShI vl GEAT, ASTHAT ht G&IT FT o
AT g1 TAT ST FIT F 58 9 TITH 9T g 3 AT % Mg A< 20
ASF g, a‘ruﬁ%aﬁ@?mﬁw‘raﬁmw@ﬁ?(w
T ASHT B)

(1) 15
(2) 16
(3) 17
(4) 19
(5) None of these

i



